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| | Answer ALL questions. R
" PARTA— (10 x 2 = 20 marks)
1. '.Idgni;i_fy the need of WATM sfstems. '
2. _What are P'icor'l-e.t‘ an;d Séatternet‘?
3. A..Def_inerthe term Care-of addréss in mobile IP. E
(4 | Outline the characteris._ﬁcs of MANET.
5. .Give' any foﬁr sche?nes to i'xinprove the‘ TCPs pe‘rfor'rhénce in Wiréless networks.
6. _ VIdentxfy the cllalqa(;telxstlcs to be con31dered whlle deploymg apphca(tmns over
: 3G wireless links. : -
7. What is UMTS?
8, Défil_le the Long_-'.l‘e_fm'Evolution (LTE).
5. List the foaturos of 4.

10. Identify the focuses of Cognitive Radio.
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- the network layer such that both delay constramts along with

o

PART B — (5 x 13 = 65 marks)

Descnbe the IEEE 802 11 MAC data frame fonnat w1th relevant
diagram,

_ Ox
Give the etrategy of logical link control and adaptation p.rotoeol (L2CAP).
How the Tunneling and IP-in-IP encapsuiation occur m the mobile [P?
Or

Describe the Dynamic s_ource routing with example.

Explain the Congestion control, Slow start and Fast. 1etransm1t/fast
recovexy in trad1t10na1 TCP. :

\

-'Descrlbe the Snoopmg TCP and pomts out the advantages and _‘
- dlsadvantages : : '

Ouﬂine the: everview' of. U_MTS Tex‘restriai Radio Access Network. -

_Or

.Illustfat__e t_he theory rof 'I-Iigh;Speed ﬁownlink Packet Access (HSDPA)-

Categorlze the four types of Smart antenna technlque and explam 1n '

‘ detall

| Or

- Summarize the 4G key challenges and mention the proposed solutions. __

, | PARTC—(I x 15'=15 marks)
Analyse all posmble solutions to be adopted for giving moblhty suppmt 1n

throughput levels are aclneved | ' (15) N

Or . .

How does. the 3G GGSN/MSC differ from the GPRS aichitecture
elements (2G GGSN/MSC)? What sort of enhancements are carried out

“in UMT S o Tset out its SpBlelcatlonS N e (15) S
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